[image: image1.png]BROADRICK

SECONDARY SCHOOL





Broadrick

Secondary School

2 Dunman Road S439188  Tel:3445025
          Marks

Mathematics D

Secondary Four Express / Five Normal

Preliminary Examination 2001

Paper 1 (Marking Scheme)

2 Hours


Date
:
10 September 2001 (Monday)

Time
:
11.00 to 13.00

Name


: ________________________

Index Number
: ________________________

Class


: ________________________
Instructions to Candidates
1. Write your name, index number and class in the spaces above.

2. Answer all questions.

3. Write your answers in the spaces provided on the question paper.

4. If working is needed for any question, show it in the space below that question.

5. Omission of essential working will result in loss of marks.

6. Neither electronic calculators nor mathematical tables may be used in this paper.
INFORMATION FOR Candidates
1. The number of marks is given in brackets [  ] at the end of each question or part question.

2. The total marks for this section is 80.
1. (a)

[image: image2.wmf]4

2

.

3

8

.

0

1

.

1

52

.

3

8

.

0

=

+

=

¸

+








[1]

(b)

[image: image3.wmf]7

5

3

7

26

7

12

6

13

7

5

1

2

1

1

3

2

=

=

´

=

´

÷

ø

ö

ç

è

æ

+








[1]

2. (a)
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(b) 
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3. (a)
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4. (a)
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(b) 
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5. (a)
(i)
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(ii)
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6. 
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From (2):
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7. (a)
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(b)
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8. (a)
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(b)
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9. (a)
largest value of 
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(b) smallest value of 
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(c) 
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10. (a)
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11. 
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12. (a)
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13. 
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Area 
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14. (a)
200 kg of rice can feed 100 soldiers for 10 days

100 kg of rice can feed 100 soldiers for 5 days
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300 kg of rice can feed 100 soldiers for 15 days

300 kg of rice can feed 300 soldiers for 5 days
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(b) 
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15. (a)
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Bearing of B from A 
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Bearing of C from A 
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16. (a) 
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(b)
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(c)
Area of 
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17. (a)
gradient of 
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A, B and C are collinear 
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(b)
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At 
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18. (a)
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(b)
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(c)
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19. (a)
Probability that he will bring $1.50 to school 
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(b) Probability that he will bring same coins to school 
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Probability that he will bring two different coins to school 
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(c) He brought $1.50 to school on Monday,

there are 6 $1 coins, 3 50¢ coins and 3 20¢ coins left.
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Probability that he will bring 70¢ to school on Tuesday
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20. 
(a) Acceleration 
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(b) 
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(c) Total distance travelled 
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(d) Average speed of the object = 
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21. (a)
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22. (a)
Modal class is 6 – 7.

(b) Mean mark 
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(c)

End of Paper 1

N2





  M





N1





N3





220o





300o





 C





 B





 A

















locus of (b)	[2]





locus of (a)	[1]





 A





 B





 O





1





2





3





4





5





6





7





6





14





t





Time (s)





Speed (m/s)





0





1





2





3





4





5





6





7





8





9





10





1





2





3





4





5





6





Mark





Frequency Density





8 cm 





50o 





10 cm





 D





 C





 B





 A








PAGE  
This question paper consists of 11 printed pages, excluding this cover page.


_1057955749.unknown

_1058843089.unknown

_1059257288.unknown

_1060125992.unknown

_1060126530.unknown

_1060126746.unknown

_1060126806.unknown

_1060465033.unknown

_1060465040.unknown

_1060126994.unknown

_1060126750.unknown

_1060126707.unknown

_1060126724.unknown

_1060126695.unknown

_1060126381.unknown

_1060126481.unknown

_1060126485.unknown

_1060126475.unknown

_1060126269.unknown

_1060126294.unknown

_1060126002.unknown

_1060126017.unknown

_1059257575.unknown

_1059257662.unknown

_1060125957.unknown

_1060125970.unknown

_1060124420.unknown

_1059257728.unknown

_1059257637.unknown

_1059257651.unknown

_1059257583.unknown

_1059257306.unknown

_1059257549.unknown

_1059257303.unknown

_1058843848.unknown

_1058844663.unknown

_1059257124.unknown

_1059257253.unknown

_1058845037.unknown

_1058845596.unknown

_1058845645.unknown

_1058845579.unknown

_1058844827.unknown

_1058844346.unknown

_1058844501.unknown

_1058843866.unknown

_1058843674.unknown

_1058843847.unknown

_1058843661.unknown

_1057956732.unknown

_1058842162.unknown

_1058842229.unknown

_1058842537.unknown

_1058842194.unknown

_1057956846.unknown

_1057956886.unknown

_1057956786.unknown

_1057956438.unknown

_1057956514.unknown

_1057956539.unknown

_1057956485.unknown

_1057955911.unknown

_1057955992.unknown

_1057955810.unknown

_1057954391.unknown

_1057955127.unknown

_1057955444.unknown

_1057955689.unknown

_1057955712.unknown

_1057955529.unknown

_1057955237.unknown

_1057955318.unknown

_1057955196.unknown

_1057954501.unknown

_1057954703.unknown

_1057954857.unknown

_1057954618.unknown

_1057954456.unknown

_1057954475.unknown

_1057954412.unknown

_1057953900.unknown

_1057954015.unknown

_1057954235.unknown

_1057954273.unknown

_1057954102.unknown

_1057953939.unknown

_1057953952.unknown

_1057953932.unknown

_1057953627.unknown

_1057953865.unknown

_1057953884.unknown

_1057953782.unknown

_1056474173.unknown

_1057953286.unknown

_1057953398.unknown

_1057953255.unknown

_1056491769.unknown

_1056474116.unknown

_1056474126.unknown

_1056009471.unknown

